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M 187 A7|. GSZEHA vs ST MEH (M2, 2021.02.28, 16:00~18:03)
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M 187 A7|. GSZEHA vs ST MEH (M2, 2021.02.28, 16:00~18:03)

GSZEIA 'S S3MH
57 No Block 494
1970 /7 27H 1 Block 1870 /7 07M
1007H / 874 2 Block 997l / 67K
570 /7 07H 3 Block 07 /7 07
*22Z Y AL "/ HE3 N
> SE ME ME Al &0 E27{0f [HE SH7|F Hw
GSZH A T4 'S s=49 34
170 /7 07H(00.0%) No Block 270 7 27H(100.0%)
1570 7 1170(73.3%) 1 Block 1670 /7 97H(56.3%)
837H / 427H(50.6%) 2 Block 8170 / 337H(40.7%)
- 3 Block 474 / 274(50.0%)

>

MES 34 22z

> GSZEA

2021-02-28 18:10

E AE %53 AlZERE ol =42
MBS 22(38.6%) 24(42.1%) 3(05.3%) 0(00.0%) 0(00.0%) 8(14.0%)
MNEZ2| 22(52.4%) 16(38.1%) 3(07.1%) 1(02.4%) 0(00.0%) 0(00.0%)
oA 44(44.4%) 40(40.4%) 6(06.1%) 1(01.0%) 0(00.0%) 8(08.1%)

P BAMNE (BHEEYR)
> EIHE

E AE %53 AlZERE ol =42
MIET 2| 16(33.3%) 8(16.7%) 2(04.2%) 3(06.3%) 5(10.4%) 14(29.2%)
ME=< 28(50.9%) 11(20.0%) 6(10.9%) 10(18.2%) 0(00.0%) 0(00.0%)
oA 44(42.7%) 19(18.4%) 8(07.8%) 13(12.6%) 5(04.9%) 14(13.6%)
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H 187 A7]. GSZEHA vs SF4H (M2, 2021.02.28, 16:00~18:03)
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o EE! &% 5 | B+ | SME | MME | cug =g | um cug o
1 GSZHA 53 18 9 27 67 43 1.558 2,528 2,346 1.078 45
2 a4y 53 18 9 27 61 42 1452 2,313 2,235 1.035 214
3 IBK7Z| 28 40 13 15 28 51 59 0.864 2,361 2,426 0.973 114
4 St 2 A 39 12 15 27 53 56 0.946 2,378 2,314 1.028 15
5 KGCRI&tZ At 29 10 16 26 43 58 0.741 2,180 2,289 0.952 15
6 e Fa= 29 10 17 27 46 63 0.730 2,346 2,496 0.940 114
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